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913 =7fh- A, B, C, D, E, F, G 3T H = Y& uf
¥ I AT AT qE@ FF 45§ T T2 F A
AR ZHT 7 H 2

E 4ftF % i@ # 921 21 E o7 H ¥ o9 ¥« o=
=t 4% &1 H 3 D F &= ¥« a1 =1fwr 343 21 B,
D & & gAY ¥ 97 427 2| B &% E fAseaw
TErT 7E 1 G, A F T a4 437 21 G AT B F
A= 7% =T 1 Fer It 1 2 Srat Asie C &
&t 4% =it T qear 2|

Eight persons-A, B, C, D, E, F, G and H are sitting
in the linear row facing the north. All the
information is not necessarily in the same order.
E sits on the end of the row. Only five persons sit
between E and H. Only two persons sit between
H and D. B sits second to the right of D. B and E
are not immediate neighbours. G sits immediate
right of A. The number of persons sits between
G and B is the same as the number of persons
sits between A and C.
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Who sits second to the left of C?
‘ | | | | | ‘ ‘ a) Bb) E c) A d) G e) None of those give an option
Who among the following person sits to the
right of B?

) H I)F NI)G IV)A
a) Only (1) and (lI)

b) Only (1) and (IV)
c) Only (1) and (l1l)
d) Only (ll) and (IV)

e) All (1), (1), (111) and (1V)

If one neighbour of C is B, who is the second
one?
a)Fb)Ec)Gd)Ae)D
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A A How many persons sit between G and H?
a) Two b) Three c) Four d) Five e) One

If all the persons are arranged in alphabetical
order from the left end, then how many persons
are unchanged in their position?
a) Three

b) Two

c) One

d) None

e) More than three !—

I
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- =0
205143A=GIL95#KM+@E5*09”"H%J!0%88

How many such vowels are there which is immediately followed by a number?
W frda T & O iF a9ic v & nd g7
a) One b) Three c) Two d) Four e) None

Find the next element in the following series?
283, =I5, M@*, ?
a)HJO b) HIX c) %0 d) 10X e) None of these

Four of the following five are alike in a certain way and thus form a group as per
the given arrangement. Which of the following does not belong to that group?
ﬁmﬁﬁaw##wwmaﬂﬂ:#w%aﬂtwmﬁ
IS YaTAT & HTAR Toh HHE d1d ¢ Ae=fai@d & § Fiq 39 a5 4@

Fafad STat 87
a) 20S b) A=l c)L9# d)+@5 e) *On
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! E1-s0™
205143A=GIL9S5#KM+@ES5*092H%J!0%8B

Which is the 15th element to the right of the 12th element from the left end?
S B8R ¥ 129 dcd & & § 15a7 dcd ST AT g7
a)# b)H c¢)J d)! ¢)X

How many letters are immediately preceded and followed by a symbol?

frdst 31aRT & S gge 3T 9 A T Udid 8§72

a) Three b)Two c) One d) Four e) None
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@z #AfE- L, M, N, O, P, Q, R, 7 S m% 3= 17 | | Eight persons-L, M, N, O, P, Q, R, and S are

U 7 F7 AT A7 q@ w9 95 2 | w4 441 fFadr | | sitting on the circular table facing the center. All
i s the information is not necessarily in the same
order. N sits second to the left of S. Only two
persons sit between S and M. P sits second to

‘ e % G ‘ the right of M. The number of persons sits
= 2 ;ﬂ%—m qHE=T ﬁ:ﬁ — 4
2 P ARM ¥ A 35 I a2 between P and M is the same as the number of

Sradt M 3w L F = a2 =afwai §1 5= 21 0, R | | persons sit between M and L. O sits second to
¥ a0 7 7Y T 07 471 21 Q s O fAweaw | | the left of R. Q and O are not immediate

N,SFamd § gAY ¥ T 3T 21 S 3T M ¥ fi 7

Fa 2 ATh 95 21 P, M ¥ 313 § 8L #1997 937

TEr TR neighbors.
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Who among the following person sits immediate left of N?
a)Pb)Rc)Md)Oe)lL

If S is related to O and M is related to P in a certain way.
Then who among the following is related to N?
a) Rb) M c) O d) L e) None of the above

Who among the following person sits opposite to M?
a)Rb)Pc)Nd)Qe)l

What is the position of L with respect to Q?
a) Second to the left b) Immediate right c) Third to the left
d) Second to the right e) Immediate left

How many persons sit between S and R when counted to the
right of S?
a) One b) Two c) Three d) Four e) None
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16) Statements: 17) Statements: ]
JSI2K>L sN>G=0<Q XsY=Z<W=z2V=U
. W=U
Conclusions:
. Z =2 X
L sQ
A.Only | follows
. L <1

B.Both | & |l follow
a) None follows

b) Only | follow

C. Either | or Il follows

D.Only Il follows
c) Only Il follow

d) Both | and Il follows

E.None of these

e) Either | or |l follows
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18) Statements:

FSA<S >Z 2P 2 B=R<D
Conclusions:

. R<S

II.LA<P

a) None follows

b) Only | follow

c) Only Il follow

d) Both | and Il follows

e) Either | or |l follows

19) Statements:
I=J<M=L2K=N

LN <| Tl
I.L>N

A.Only | follows

B. Neither | nor |l follows
C. Both | and Il follows
D.Only Il follows

E.None of these
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20) Statements:
N2P=S>T=|M<H=<G<I;

Conclusions:
| M<P

II.N2G C

A.lf only | follows.

B.If only Il follows.
C.If either | or |l follows.
D.If neither | nor |l follows.

E.If both | and |l follow.
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ATT AT - A B, C, PR SHTZATTT T gaven boxes- A, B, C, P, R, S and Z are kept one

above another in the stack. The lowermost shelf
is numbered as one and the topmost shelf is
numbered as seven. All the information is not
necessarily in the same order. Box A is kept

41 Fa a1 F1F9 g 719 C, A B AT AF AF | adjacent to Box B. Only two boxes are between
= T T 2 At S Fr s R F 9= 3¢ | B and C. Box C is kept below box B and box A.
Box S is kept immediately above box R, none of
the boxes are kept below box A. Box P and Box Z
are kept below Box B. The number of boxes kept
T R F Y 7@ A0 FFT AT AT, A Z F AT | above box R is the same as the number of boxes
T AT AT T HEAT F T 2 kept below box Z

TOF H TET AT | 999 A= 9°F T uF F w7 H
4T STAT 2 3T EH FUT T AFF T ATT F BT H
AT ST 21 STt @ G weft aEer 2w it we A 2l
TFAFTITFBFAAT @I TATZI B AT C #F

TET AT 2, 1 AT F70T, 10T A F {19 F21 &1 77

21 AT P 3T T Z, 91 B ¥ #= T@|r v 2
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Seven boxes- A, B, C, P, R, S and Z are kept one
above another in the stack. The lowermost shelf
is numbered as one and the topmost shelf is
numbered as seven. All the information is not
necessarily in the same order. Box A is kept
adjacent to Box B. Only two boxes are between
B and C. Box C is kept below box B and box A.
Box S is kept immediately above box R, none of
the boxes are kept below box A. Box P and Box Z
are kept below Box B. The number of boxes kept
above box R is the same as the number of boxes
kept below box Z
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Boxes 21) Which of the following box is kept immediately

above C?

7 S a) Box R b) Box B c) Box S d) Box Z e) Box P

6 R 22) How many boxes are kept above box A?
a) Three b) Two c) Four d) Five e) One

S A
23) Four of the following are alike a certain way and

4 B hence forms a group. Which of the following does not
belong to the group?

3 P a) SAb) RBc) PCd) AP e) CR

2 Z 24) Which of the following shelf does box P has kept?

1 C a) Fourth b) Fifth c) Third d) Second e) Sixth

25) If all boxes are arranged in alphabetical order from
the top, then how many boxes are unchanged in their
positions?

a) None b) Three c) Two d) One e) More than three
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T qiE | /19 7#959- A, B, C, D, E, F, 3T G | | A family consists of seven members- A,
Fv 2 fFaRa s §) C, G #it wnft &, A1 Tw B,C, D, E, F, and G and two married

_ couples. Cis the sister-in-law of G, vice
AT (vice versa)l A, F &1 f4aT 21 G, D #T || yersa. A is the father of F. G is the only

TFATdr T 21 B, C &7 797 21 E 3T A 9Ts-98+ 2 daughter of D. B is the father-in-law of C.

. E and A are siblings. F is the niece of G. E
F, G &1 E StaTRa 81 C 7 1 9re-Aed is unmarried. C has no siblings.
SEEL
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B(+) D(-) 26) Who among the following is the mother of F?
AG B.C CD D.E E.Noneoftheabove
l Which of the following statement is true with
E(+)— G()— A(+)—— () respect to E?

B.E is the son of C

A.E and C are married couples
l C.E is the father of G
F(-) D.E is the brother-in-law of C

E.All are true

28)Four of five among the following are based on a
certain group. which one does not belong to the
group?

AB BC CG DD €EF
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29) Statement 29) FI9T
Only a few Ellipse is Nonagon FAT FF %1 3frA (ellipse) FTTT (nonagon) &

)
T -
All Nonagon is Rhombus T AT (nonagon) FHATHS (rhombus) 2

{57 (rhombus) T (d 2
Some Rhombus is Decagon T qAATLS (rhombus) (decagon)

A
Conclusion |. FTE T (nonagon) TFT (decagon) 2T 2
l. No Nonagon is Decagon 1. &5ft TR (decagon) FHT t T (nonagon)

ll. All Decagon can never be Nonagon
a) If Only conclusion | follows.

b) If Only conclusion Il follows.

c) If either conclusion | or |l follows.
d) If Neither conclusion | nor Il follows.

e) If both conclusions | and Il follow.
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30) Statements:

Some mouse is keyboard

All keyboard is laptop

Only a few laptop is CPU
Conclusions:

l. All keyboard can be CPU

Il. Some mouse is laptop
A.Only conclusion |l follows
B.Only conclusion | follows
C.Both conclusion | and Il follow
D.Either conclusion | or Il follows

E.Neither conclusion | nor |l follows

30) I

F AT3H (mouse) FTaTE (keyboard) &
T+t Fare (keyboard) 72T (laptop) 2
FA T &1 A9217 (laptop) #Tr (CPU) &
Ao

|. 7sft e (keyboard) #fi (CPU) 27 71 2
Il. F= 9139 (mouse) @217 (laptop) &

A. Faet fAe || ST F:7ar 8

B. Faer At | sreeor Fear 2

C. a1 AT | 37 || e #3d 2

D .77 T A | 7 || a0 F3ar g

E.7 a1 e | 3 7 27 |l sraeor Fear g
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31) Statements:

Only tablet is mobile

Some tablet is laptop

Only a few laptop is computer
Conclusions:

|. Some laptop can be mobile

Il. Some laptop is not computer
A.Only conclusion | follows
B.Only conclusion Il follows
C.Neither conclusion | nor |l follows
D.Either conclusion | or Il follows

E.Both conclusion | and |l follow

31) FI:

Fa e (tablet) 1 HETEe (mobile) g
¥ 299 (tablet) F=TT (laptop) 2

FAT T a1 97 (laptop) FI=T (computer) g
Ao

|. = AT (laptop) HIETZe (mobile) ET T &
. T A7=(T (laptop) < (computer) &1 &
A. Fae Ao | e Fear 2

B. et fAehd || srEeor et 2

C. 7 a1 fAmad | 3w 7 2 || Aqaeor Fvar 2
D.7T &1 A | =7 || SIEer F#7aT

E. a1 e | 3% || ST aor e 2

Im B
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Only a few Mouse is Bat

No Bat is Cow

Some Cow is Goat

Conclusion

I. Some Goat is Mouse

Il. All Goat being Bat is a possibility
a) If Only conclusion | follows.

b) If Only conclusion Il follows.

c) If either conclusion | or |l follows.

d) If Neither conclusion | nor Il follows.

e) If both conclusions | and Il follow.

32) FI

A T gl 4139 (mouse) < (bat) g

FT< 92 (bat) FT3 (cow) T2 & —
T FT3 (cow) e (goat) 2 '
Ay

|. %= e (goat) ATSH (mouse) &

Il. 75fY 1= (goat) F &= (bat) 21 FT H9TAAT 2
a) % Faer e | SEor w7 2|

b) =t Faer e || AL F2aT 2

c) =tz =T qr AT | J7 || SAgE=or F7aT 2|

d) 7z 7 a7 A | 3fT 7 1 1| Agaer 74T 2|
e) 7fx fAet | 37 |l AT ATHATT F7d 2|
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2% =1f%- P, Q, R, S, T, @7 U wF & 7 % &
AM-AAT w1~ A0, HE 3T A il &l T[T
fafat a7 ar 15 a1 18 7% AW | @AW o 77
21 AT TR B Ay AT T+ w2

T. Q 7 21 AfFaT T8 977 o941 21 Q, g T
farre ST ATt AT F I At 21 T ' Tge 9
Ad AT ATHAT Ft F=qr, U F 978 9T o9 AT
IR T H&AT & q9H 21 S, P # G Tgel 9
dar gl R, T F A= 91T 781 «ar 2l

Six persons-P,Q, R, S, T, and U are
attending the seminar on two different
dates either 15 or 18 of three different
months- April, May, and June of the same
year. All the information is not necessarily
in the same order. T attends two persons
before Q. Q attends on the odd number
date of the month. The number of
persons attends before T is the same as
the number of persons attend after U. S
attends immediately before P. R does not
attend adjacent to T.
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Month with Date Person 33) Who among the following attends immediately
before R?
April 15 S a)Sb)Pc)Td)Ue)Q
April 18 P 34) Who among the following person attends on April
May 15 T 15th?
a)Rb)Uc)Td)Pe)S
May 18 U
June 15 Q 35) Which of the following statement is/are true?
I. T attends on an even number date
June 18 R 11.Q attends immediately before S

lll. P and T attend on different months
IV. S attends in the month which has an even number of
days

a) Onlylandlll b) Only lll and IV c) Only Il and Il
d) Only Il and IV e) None of these
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36) On which of the following month and date does U attend
the seminar?

afef@a & @ 9 #da 3k adi #F vAREIR &
STTeT oI §7
a) June 15 b) June 18 c) May 15 d) May 18 e) April 15

37) How many persons are attending the seminar after T?
TH a1 fhaer afFad AR & smr & @ 872

a) One b) Two c) Three d) Four e) None

it
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38) If all the letters of the word “BROWNIE” are arranged in
alphabetical order from the left end, then which of the following letter

is second from the right end?

af& e “BROWNIE” & Waft 3raRY A 910 8K & qUlefhA A
qafeyd fFar oar &, @ Peafai@a & & FiF 97 7R g
BR § g T W g7

a)O b)R ¢)N d)E e)W
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39) How many pairs of digits are there in the number “3614729” each of which has as
many digits between them in the number as in the number series? (Both Forward and
Backward direction)

HEAT “3614729" A IR F 0O fFaad goA &, A T v+ & &g 3aa &
3% § T aean s@en # ¥ (3 K S at frem)

a) Six b) Seven c) Five d) More than seven e) Four

it
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40) In a certain code language, If “FRIED” is written as “ QEJCF” and “PLANT” is
written as “KOBSM”, Then how is “SHOWN"” will be written in that code language?

vs fAfRaa fe o A, afy “FRIED” T “QEICF” for@T STaT @ 3R “PLANT”
“koBSM” For@T STaT &, ar 3HY F1T HT9T I “SHOWN” FT H¥ for@r ST

a) HSPMV b) GRPMV c) GRPOV d) TGPMX e) TRPMX

it
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How many such pairs of letters are there in the word 'CORPORATE’, which
have as many letters between them in the word as there are, in the
English alphabet between the same letters in sequence?

A 'CORPORATE' # 3M&TU & W fhdal s &, et o g &
3det &Y 3R § Toiae sl auiaArer & ¥ e & T FA A

272

NONE
ONE
TWO

MORE THAN THREE D

THREE

mooO®>»
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Ten persons P, Q, R, S, T, U, V, W, X and Y were born either on 8th or 27th in different months i.e.
January, February, March, April and May of the same year but not necessarily in the same order. No
two persons were born on the same date of the same month.

P was born in the month having even days but not the least number of days. Four people were born
between P and W. Three people were born between W and S. T was born in the month having the
least number of days. Two persons were born in between T and Q. U and V were born in the same
month but not in March, U was older than V. Three persons were born between U and R. X was not
born in the month having the least or odd number of days.

&1 S gl g3l
Pﬁﬁﬂgﬁﬁaﬁﬂ?ﬂﬁﬁg&nmﬁ%ﬁﬁﬁmw@wﬁaﬁlPaﬁiwésaﬂaaw
W 3R s & &g diF I T ST G311 YTI T BT S Ta8 HH {1 drel HelH H g3 T 7 3R q & &g
fdd UaT gU A1 U 3R v BT 579 U &1 HalA | g o1 fds1 Ard # 981, u, v §81 UT1 u 3R R & ot A
Hfad 921 gU A1 x &1 570 3T HelH H el g3 &, forgd fe=i &t Yo vay &4 a1 faww §1

x
&
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Ten personsP,Q, R, S, T,U,V, W, X and Y were
born either on 8th or 27th in different months i.e.
January, February, March, April and May of the
same year but not necessarily in the same order.
No two persons were born on the same date of
the same month.

P was born in the month having even days but not
the least number of days. Four people were born
between P and W. Three people were born
between W and S. T was born in the month having
the least number of days. Two persons were born
in between T and Q. U and V were born in the
same month but not in March, U was older than V.
Three persons were born between U and R. X was
not born in the month having the least or odd
number of days.
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Six men-P, Q, R, S, T and U are closing their loans in different months-January, April, May, July, September
and October in the same year. Their loans are Personal loan, JewelleryLoan, Car loan, Bike loan, Business
loan and Housing loan. All the information is not necessarily in the same order.

P has closed neither housing loan nor a bike loan. S has closed the Jewelleryloan. The car loan is closed in
January. The business loan is closed immediately before the housing loan. T has closed his personal loan in
May. Bike loan is closed in October. S has closed his loan neither in July nor in September. Only one person
is closing their loan between T and U. Q has closed his loan before the person who closed the business
loan.

BE UI9-P, Q, R, S, T 3R U TH &l a8 H -3 He M- S-ax], U, A, STy, [Rdes 3R AR H 30T
BUT §¢ B g & | 3% FU] HlGTd BT, ST BT, HR BUI, §156 FU1, AT FUT 3R HER FU7 5|
oRexl 81 fob G} U o4t b | Bl

p = T Al 3MMART BT 3R - 51 FI5H BUI B ¢ fbaT g1 s - SIER! A ¢ P [T 1 BR BU S-a3] H &S gl
SITdT & | SISRIT a9 ¥ 1% Ugd ooy diF §¢ &3 [Sa1 ST g1 79 U H U1 AfgdiTd B §g H< 41 6
5P dF AR A EG 1S9 HUATHBUA @l HRAGI NdR H dg [Pa1 81 Had UG AT T IR U &
S 3O AU §ig DR @1 81 QF SHUAT BU I g Ugd §a PR fodT & o ey U s R faan gl
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Six men-P, Q, R, S, T and U are closing their loans
in different months-January, April, May, July,
September and October in the same year. Their
loans are Personal loan, Jewellery Loan, Car loan,
Bike loan, Business loan and Housing loan. All
the information is not necessarily in the same
order.

P has closed neither housing loan nor a bike loan.
S has closed the Jewelleryloan. The car loan is
closed in January. The business loan is closed
immediately before the housing loan. T has
closed his personal loan in May. Bike loan is
closed in October. S has closed his loan neither in
July nor in September. Only one person is closing
their loan between T and U. Q has closed his loan
before the person who closed the business loan.
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D6EI*IM3AU%T@ ©OBK5VIW&Y206#9H4GSZN

11. How many such vowels are there in the above arrangement, each of which is
immediately followed by a vowel?

SRIFd AT H T fohd IR g, o0 U UAH & 1P 91 TP I g7

(a) One
(b) Two
(c) Three
(d) Four

(e) None e g
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12. Which of the following element is exactly in the middle of 5th element from the left
end and the 15th element from the right end of the arrangement?

ORI A A HAATdI IR A 14d dd &b d1 A D31 87

(a) @
(b) ©
(c) %
(d)T
(e) None of these
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14. How many such vowels are there in the above arrangement which immediately
preceeded by number and also immediately followed by a Vowel?

SWRIFT AT H 09 fbd= @R g o 31 g I 3R 3 91 H Ush WX g7

(a) Three

(b) One

(c) Four

(d) More than Four
(e) Two

it
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15. How many such symbols are there in the above arrangement which are immediately
followed by a number and preceded by a consonant?

SWRIdd AT H 0 fhd= Udie g oMs 31 91 U T=T 3R U Udh ol 87

(a) One

(b) Three

(c) Two

(d) More than Three
(e) None
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16. How many such numerals are there in the number ‘457891256’ which will remain at
the same position when arranged in descending order from left to right?

4@ '457891256' H U {dod- 3id g Sl d1U I U 3fdRip! vH H AU Hid W
I RUfd 7 38?2

(a) None

(b) One

(c) Two

(d) Three

(e) More than three

it
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17. In the word ‘ELEVATOR’, how many pairs of the letters have the same number of
letters between them in the word as in alphabet?

%WC{'ELEVATOR'ﬁ, 31&RI & fohd- g1 o oI S1&R] B GBI Il ol g ford-l fap quiHTel
2

(a) Three

(b) Two

(c) One

(d) More than three
(e) None of these

it
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There are eight members in a family of three generations. G is the father-in-law of C. Cis
the mother of F. F and D are siblings. D is the only nephew of E. E is unmarried. B is the
only son of A. E is not the sibling of C. A is the grandmother of F.

aiF Yifedi & U URaR ¥ 318 Ye™ gl &1 G, CHT TR &1 ¢, F P AT §1 F HR D HI5-§6 &l D, E PI
THaldl Yo g £ sifqaned ¢ B, ACI’)I‘&d’)ﬂICIIEpI%I E, C PTG T6l 5l A, F &I Glel B

18. How is E related to F?
(a) Paternal uncle

(b) Maternal uncle

(c) Paternal aunt

(d) Maternal Aunt

(e) None of these
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There are eight members in a family of three generations. G is the father-in-law of C. Cis
the mother of F. F and D are siblings. D is the only nephew of E. E is unmarried. B is the
only son of A. E is not the sibling of C. A is the grandmother of F.

aiF Yifedi & U URaR ¥ 318 Ye™ gl &1 G, CHT TR &1 ¢, F P AT §1 F HR D HI5-§6 &l D, E PI
THaldl Yo g £ sifqaned ¢ B, ACI’)I‘&d’)ﬂICIIEpI%I E, C PTG T6l 5l A, F &I Glel B

19. How many male members are there in the family?
(a) Three

(b) Four
(c) Five
(d) Six

(e) Two
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There are eight members in a family of three generations. G is the father-in-law of C. Cis
the mother of F. F and D are siblings. D is the only nephew of E. E is unmarried. B is the
only son of A. E is not the sibling of C. A is the grandmother of F.

aiF Yifedi & U URaR ¥ 318 Ye™ gl &1 G, CHT TR &1 ¢, F P AT §1 F HR D HI5-§6 &l D, E PI
THaldl Yo g £ sifqaned ¢ B, ACI’)I‘&d’)ﬂICIIEpI%I E, C PTG T6l 5l A, F &I Glel B

20. If E is married to J, then how is G related to J?
(a) Father

(b) Father-in-law

(c) Brother

(d) Son-in-law " "
(e) None of these
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There are eight personsi.e. M, N, O, P, Q, R, S and T sitting around a circular table such that
some of them facing inside and some of them facing outside the circle. S sits third to the
right of R and both of them faces opposite direction. Both the immediate neighbour of S
faces opposite directions with respect to S. T sits third to the right of P and is an immediate
neighbourof M, who sits 2nd to the left of O, who faces the same direction in which S is

facing. P sits between R and N. No two adjacent persons faces the same direction. Q faces
inside.

lad 3YId M, N, 0, P, Q, R, S 3R T U gIPR HY P dR| 3R 3H UPR 63 & %Wﬁ@ﬂ%
Eﬁ"f&h?%aﬁiwm gd & STe dI 3R 31 S, Ra%aﬁﬁeﬂﬂﬁwmaa%aﬁ?wéﬁmﬁi
RS R GIsH ﬁmﬂu@l?ﬁsé?waﬁﬁuﬂaﬁsn&ﬁ glT,PHER Y

318 3R M BT AP USIfI 8, S o & 918 T TR WH W I318, 5N %ﬁmsﬂ@%ﬁﬂﬁsﬁ

g@% bR AR N F ST AT 21 HIE oY & ST Safad TaH = 3 3R 7@ el F1  37eR 1 3R I
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There are eight personsi.e. M, N, O, P, Q, R, S
and T sitting around a circular table such that
some of them facing inside and some of them
facing outside the circle. S sits third to the
right of R and both of them faces opposite
direction. Both the immediate neighbour of S
faces opposite directions with respecttoS. T
sits third to the right of P and is an immediate
neighbour of M, who sits 2nd to the left of O,
who faces the same direction in which S is
facing. P sits between R and N. No two
adjacent persons faces the same direction. Q
faces inside.
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A person starts walking from point A towards west. After walking for 9m, he turns right at point H and walks
for 4m to reach point G. At point G, he turns right to walk for 6m to reach point B and turns left and walks for
5m to point E. At point E, he turns right to walk from 8m to reach F and turns left and walks 3m to point D. At
point D, he turns left to walk 10m to reach point C.

W&I%Q’A@ruf%ﬂaﬁsmwm-gtc\qoml?rlglﬁwdawld 98 [dg HIR ﬂem%aﬁ?ﬁgsu?

P R4 3 10 67ft o) 3
AR Sl (AT S AL Ll ampwa%%a%%mafﬁmﬂ%ﬂ?m

fdg D IR 34t 9@ 5. fg D |, a—sﬁgcmu@ﬁai%morﬂaaﬁaiﬁmmmé

What is the direction of point C with respect to point G?
a. North west

b. North east

c. North

d. South west

e. None of the above
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A person starts walking from point A towards west. After walking for 9m, he turns right at point H and walks for
4m to reach point G. At point G, he turns right to walk for 6m to reach point B and turns left and walks for 5m to
point E. At point E, he turns right to walk from 8m to reach F and turns left and walks 3m to point D. At point D,

he turns left to walk 10m to reach point C.

w?%ﬁ&giﬁ@fq@ﬂ%ﬁﬁ?wﬂg@mm% otft 9 m%? 1, 9% fog H TR 31T godT % Sﬁﬂ%‘g’cﬂ%
441 Il B GUWX, dg 6Hl alU qU
%ﬁymﬁf?ﬁm% fdg £ IR, a8 8wl ¥ T ﬁ-lu %ahwaasugggmm%ah?arqﬂé%ﬂ%ﬁ?
ffgpm3digaaris. ig oW, g g cRuga & rﬁ % fou e g3ar g.

12. What is the shortest distance between the starting point and the

final point?

a.17m

b. 15m

c. 20m

d.13m

e. None of the above
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A person starts walking from point A towards west. After walking for 9m, he turns right at point H and walks for
4m to reach point G. At point G, he turns right to walk for 6m to reach point B and turns left and walks for 5m to
point E. At point E, he turns right to walk from 8m to reach F and turns left and walks 3m to point D. At point D,
he turns left to walk 10m to reach point C.

Udh Afad f6g A T Ui & 3R I L& ddl 6 | 97 901 & 91, 98 [6g HIR A JSdl g IR dg 6 |

= & forg 411 9etar 81 f6g 6 W, 98 fdg 8 )R UgdH & foru et 9a+ & Torw q1¢ gsar & 3R &1¢ gsdl &
fog e W 5dt gqar g1 g £ IR, 98 84T T 9eA & foTU <10 Hd1 g 3R F dd Ugdd] & 3R 91U J3dT & 3R

fog b IR 37 9war 8. fog D WY, 9% foig c R ugaH & fow 1071 9o+ & fou a1 g3an g,

—_—

What is the total distance between B and A?
a.’m

b. 19m

c.8m

d. 9m

e. None of the above
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14. If the first and the third letter of each word are interchange then how many
meaningful words will form?

%WW%W 3R IR 31&R I 3M19F H dad faar Sy dl fhd 3riyul Weq
?

E) More Than Three
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15. If all the consonants are changed to the next consonant and each vowel is changed to its
preceding vowel then how many meaningful words will form?

gfe; Tt ST Pl 3fTel AT ¥ sad o1 WY 3R Ul ¥R B! I8 Yddd! WR H dqa
e wmg ot fobem aniyol wrsg &2
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16. Which of the following is the middle letter of the word formed by the first, second and
third letter of the last, first and fourth word respectively?

fAgfciRad ® ¥ sifaw, ugd SR d1Y Usc & HHRT: Ugd, GIR 3R dRK 31&R I &+ dlad
e T HYT 3HeR B T 22

AT
B) B
Q)Y
D) O
E)N
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17. If all the words are written together without any space then which of the following is fifth
letter to the left of the 11th letter from the left end?

gfe gt Tl &) fam fheht = & e a1y fe@r war g, d Rgfafea g I s O aR
T 119 34eR & 91U I gigdai 3feR g7

>

)

o 0O

O
)T
} R
) B

S

m

)
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18. What is the difference between the place value of the third letter of the second word from
left and the third letter of the middle word?

q1U ¥ GIR e & IR &R 3R T e & IR &R & WY T o did &1 3R 372

A) One
B) Seven
C) Five
D) Three
E) Four

it
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19. How many pairs of letters are there in the word “TARGET” (both forward and
backward direction) each of which has as many letters between them in the word as in
the English alphabetical series ?

oG “TARGET” (31T 3R Ule <11 f=madi H) H 3{eRi & {hd- Sis &, [od 9
Jd o aId 3o o 3&R 8 foia- fd MU quHTAT SR | 62

a) One

b) Two

c) Three

d) None

e) More than three
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20. If a meaningful word is formed by using the second, fourth, sixth and eighth letter
(from the left end)of the word “MODELING”, then which of the following will be the
second letter of the meaningful word thus formed from the right end. If more than
one such meaningful word is formed mark Z as your answer. If no meaningful word is
formed, mark X as your answer?

gic Jeq “MODELING” & gaY, 1Y, B 3R 3134 3HeR (T BR T) BT SUART P Uh TP Ueg ST Sl
g, o Pafifed 7 @ 219 T1 981 3(d T 99 Il Teq BT gIRT 38R 8 . Ife 01 U ¥ 31 3pefyof wreg
§d g dI 304 IR z B! [fgd #¢1 afc pis Irie 2reg gl §91dT1 &, Al X Bl 3T I 7

(a) O
(b) 1

(c) X
(d) E
(e) Z
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21 25} Eight persons H, L, M, N, P, Q, R, and S are sitting around a circular table facing the
centre. N sits second to the left of H. Two persons sit between N and S. Only one person sits
between S and P. L sits on the immediate right of M. Only one person sits between M and R. P
and H are not immediate neighbours of each other. Q and N are not immediate neighbours of
each other.

318 AT H, L, M, N, P, Q, R, 3R s TH JADR W & ART AR D D] 3R T XD 93 |
N, Haiamﬁgﬂifanﬁrwéa% NIR s dld gl AfRIdS g1 S HR P& dlld Hhdd U
iR 43181 L, M Bl G 981 g1 dhddl Udh Hfdd M HR RS dld §3dT 51 P 3R HUTH
G & A cad uSil [gl 8. @ 3R N U gak & Mavcad ysiil [l &
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Eight personsH,L, M, N, P,Q, R,and S
are sitting around a circular table facing
the centre. N sits second to the left of H.
Two persons sit between N and S. Only
one person sits between S and P. L sits
on the immediate right of M. Only one
person sits between M and R. Pand H
are not immediate neighboursof each
other. Q and N are not immediate
neighboursof each other.
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26 — 30) Seven people P, Q, R, S, T, U and V are sitting in a row facing towards south direction but
not necessarily in the same order. Three person sit between U and V. Q is immediate between U

and T. R is not immediate neighbor of U. U is second from one of the end. P is immediate right of

V. S sits to the |left of R.

TTd Afad P, Q, R, S, T, U 3R V. GIEUT SR &t 3R 8 b umﬁﬁ%%%w@wﬁﬁl
u&ﬁw%?a‘lﬁ?ﬂ:rwﬁré%%lq,uaﬁw%a‘laiaﬁaﬁ% R, U DT Mdpead gt sl g1 U Uh BRI
TR YFWREIPVH 3P e gl s, RD a1 931 5
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Seven people P, Q, R, S, T, U and V are
sitting in a row facing towards south
direction but not necessarily in the same
order. Three person sit between U and V.
Q is immediate between U and T. R is not
immediate neighbor of U. U is second
from one of the end. P is immediate right
of V. S sits to the left of R.
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31.

Statements:
W>Q2P<N<LA; N>R=X
Conclusions:

. A>X
. Q>N T

{a} If only conclusion | follows.

{b} If only conclusion Il follows.

{c} If either conclusion | or |l follows.
{d} If neither conclusion | nor |l follows.
(e)

e} If both conclusions | and Il follow.
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32.

Statements:
VEB<M=S>2F>2G=H
Conclusions:

. M>G
. M=H

) If only conclusion | follows.
b} If only conclusion Il follows.
If either conclusion | or |l follows.
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33.

Statements:
L<C2F>K2D>M
Conclusions:

.L<F

I.C>D

(a) If only conclusion | follows.

(b} If only conclusion Il follows.

(c} If either conclusion | or |l follows.
(d} If neither conclusion | nor Il follows.
(e} If both conclusions | and Il follow.
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34.

Statements:
N>V2L20<W<A>D
Conclusions:

. N>0O
l.A>0

f only conclusion | follows.

f only conclusion |l follows.

f either conclusion | or |l follows.

f neither conclusion | nor Il follows.
f both conclusions | and Il follow.

o

Q.

O

qY
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35.

Statements:
W>U2P<R<A; N<V=P
Conclusions:

. W>N

{a) If only conclusion | follows.

{b} If only conclusion Il follows.

{c} If either conclusion | or Il follows.
(

(
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36.

Statements: $2F['

Only a few Students are Kids. Hdd P ST S| %'I
All Kids are Adults. gyl leGI? %I

No Adults are Children. &ﬁ% L.scfd Id('S"I -_-Igb[%l
Conclusions:

l. Some Students are Children . g;'a 'EQI?I g §

Il. No Children are Students . Ebﬁ% §| e3HA '_‘Ié)[ %

(a) If only conclusion | follows.

(b) If only conclusion Il follows.

(c) If either conclusion | or 1l follows.
(d) If neither conclusion | nor Il follows.
(e) If both conclusions | and 1l follow.
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37.

Statements: Y

Only Classes are Schools. NGRS N %UI .
Only a few Classes are Colleges. hdc 3329 I DI %I
All Colleges are Universities. THI Dlclol ﬁ%] ERIGL %'I

Conclusions: fshY: N
l. No Schools are Universities Iﬁé@ﬁmqﬁ%

ll. Some Schools can be Colleges 1. S <hi Hiclol gl Yohd g

(a) If only conclusion | follows.

(b) If only conclusion 11 follows.

(c) If either conclusion | or Il follows.
(d) If neither conclusion | nor Il follows.
(e) If both conclusions | and 1l follow.
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38.

Statements: DY

All Files are Folders. I RAEN Lr;lcs_ix 4 |

No Folders are Documents. Eﬁé hIeS GXIIAS -Tgl 5|
Conclusions: ey N .

No Fil ‘ 5 . IS BIEd G&dS Mol 8
. No Files are Documents llﬁmmﬁﬁﬁﬂﬁ%

II. Some Files can be Documents

(a) If only conclusion | follows.

(b) If only conclusion 11 follows.

(c) If either conclusion | or |l follows.
(d) If neither conclusion | nor Il follows.
(e) If both conclusions | and Il follow.
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39.
Statements: HYT:
Some Bananas are not Apples. P Bl @E:IBOI%I
All Bananas are Mangoes. gt ot 3 &
Conclusions: T A
. $D HHUT ol &
l. Some Mangoes are not Apples I 5D AT 3 B THA &

ll. Some Apples can be Mangoes

(a) If only conclusion | follows.

(b) If only conclusion 1 follows.

(c) If either conclusion | or 1l follows.
(d) If neither conclusion | nor |l follows.
(e) If both conclusions | and Il follow.
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40,
Statements: DY-:

N C . 3
No Cups are Bowls. EREEISH ﬁ%l
Only a few Bowls are Plates. ®dal PO §lod Kic %|
Only a few Plates are Glasses. P d Fp@ Lol Ic]I™ %|
Conclusions: : o
l. Some Glasses are not Cups l. P el Wﬂqﬁ% _
Il. Some Bowls are not Plates Il. < §lod ®iC 6l §

(a) If only conclusion | follows.

(b) If only conclusion 11 follows.

(c) If either conclusion | or Il follows.
(d) If neither conclusion | nor Il follows.
(e) If both conclusions | and 1l follow.
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